
1/1

Simultaneous Equations ×

Ford and Lord International Pty Ltd
www.fordandlord.com

Ford and Lord

Solve simultaneous equations

b =
2
4

a 2

b =
a 
4

5
a = b = 

1 x =
4
6

y 4

x =
y 
6

2
x = y = 

2

y =
5
7

a 9

y =
a 
7

7
a = y = 

3 y =
1
3

b 9

y =
b 
7

2
b = y = 

4

x =
2
4

b 7

x =
b 
8

6
b = x = 

5 b =
1
3

x 3

b =
x 
8

1
b = x = 

6

y =
3
5

b 5

y =
b 
9

3
b = y = 

7 y =
3
5

x 8

y =
x 
6

5
x = y = 

8

b =
3
5

x 7

b =
x 
2

6
b = x = 

9 a =
1
3

y 2

a =
y 
3

9
a = y = 

10

a =
4
6

y 2

a =
y 
6

4
a = y = 

11 x =
3
5

b 3

x =
b 
6

5
b = x = 

12



Simultaneous Equations

1/1

Simultaneous Equations ×

Ford and Lord International Pty Ltd
www.fordandlord.com

Ford and Lord

Solve simultaneous equations

b =
2
4

a 2

b =
a 
4

5
a = -4 b = 0

1 x =
4
6

y 4

x =
y 
6

2
x = 0 y = -6

2

y =
5
7

a 9

y =
a 
7

7
a = -14 y = -1

3 y =
1
3

b 9

y =
b 
7

2
b = 33 y = 20

4

x =
2
4

b 7

x =
b 
8

6
b = -17 x = -1.5

5 b =
1
3

x 3

b =
x 
8

1
b = 0.5 x = -7.5

6

y =
3
5

b 5

y =
b 
9

3
b = -7.5 y = 0.5

7 y =
3
5

x 8

y =
x 
6

5
x = -17 y = -2.2

8

b =
3
5

x 7

b =
x 
2

6
b = x = -2.230 -15.38

9 a =
1
3

y 2

a =
y 
3

9
a = -0.5 y = -7.5

10

a =
4
6

y 2

a =
y 
6

4
a = 1.2 y = -1.2

11 x =
3
5

b 3

x =
b 
6

5
b = -4.5 x = 0.3

12


